Math 104  OLD Test 2 (11.1, 11.2, Chapters 4 & 5)  
Name_________________________________

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.

1.
Solve each inequality.  Write your solutions using interval notation.
(12 points)


a.
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2.
Graph the solution set of the system of inequalities.  
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(8 points)
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3.
Simplify each expression.  Write your final answers with positive exponents.
(3 points each)
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b.

[image: image6.wmf]2/3

4/3

7

7

-


[26]

4.
How is 
[image: image7.wmf]1/2
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 defined?
(3 points) 

5.
Use scientific notation to rewrite 0.000345.
(3 points)

6.
Find the exponential curve 
[image: image8.wmf]()
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 that connects the points (1, 11) and (5, 5277).  Round a and b to two decimal places.
(8 points)
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	Year
	Number of Stores

	1990
	84

	1996
	1015

	2000
	3501

	2004
	8337


7.
This table shows the number of Starbucks stores since 1990.  


a.
Create a scattergram for this data using t as the number of years 



since 1990.  Sketch a curve that fits the data. 
(3 pts.) 






b.
Find an exponential function for the curve.
(5 points)

[22]

8.
Simone invests $10,000 in an account that earns 4% interest, compounded annually.  How much will be in the account after six years?
(6 points)

9.
Find the inverse of each of these functions.
(3 points each)


a.
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b.
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10.
The function 
[image: image12.wmf]()  11.36(1.021)
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 models Mexico’s population in millions t years since 1900.


a.
Use M(t)  to predict Mexico’s population in 2010.  (Write your answer in a sentence.  Round your answer to one decimal place.)
(4 points)


b.
Find 
[image: image13.wmf]1
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.  What does this number mean in respect to this problem?  (Round your answer to the nearest integer.)  
(6 points)
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11.
Evaluate each of the following.  Round your answer to four decimal places if necessary.
(3 pts.each)


a.
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 = ________________


b.
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 = ________________

12.
Simplify each of these.
(3 pts. each)


a.
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b.
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c.
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13.
Find the solution for each equation.  Round answers to four decimal places.
(5 points each)


a.
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b.

[image: image20.wmf]2

(3)23

x

+

=



c.
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